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\¥Op^r 
PUNJABI 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 

Time allowed : 3 hours Maximum Marks : 80 

²}¾R : qdIpBr ftZ, gt¥Yc AWy It§dªr-It§dªr Hc²¾ Yp OW²¾ Hc} & 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Yy N\y h}By 7 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ EWy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 15 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs 
qdIVJy & 

  Please check that this question paper contains 7 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 15 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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 \mª²¾-H¡fd 

1. hyS¾ qdIy \±cy ²¥¾v \mª Hy, qY§Wy \of²¾p£ Yy E¨Wc qdI} :  

 _dp Hrmr Yr er H}Br hgWr h± ? \c qBh q²§¾Hy-q²§¾Hy qg\phr By²y¾ 

q`h²¾Wr h²¾ qH XHpeR Wy H¥`M}cr f^Y qB²¾ªp£ Yy f^Y-H}f qeM h± hr ²¾hs & 

^v¥Y-^v¥Y ²¾pd hr g t̀¥Yc ^V Op£Yp h± & qBE¤ hr qB²¾ªp£ `Yr²¾ Orep£ ²y¾ Ap\Vr 

d§Ip£ gpdp£ Yr q²¾c¥Wc `tf§HW ²¾pd R²¾p£ Yy R²¾ q`§Rr Ic}M `pcr & qBE¤ hr 

Ktq`Apc, H¥²¾ IOvcy, `HmrAp£, qM§Mm, _v¥T, fqhY YrAp£ `§IrAp£ ApqY Ore 

dJpWpc q`§Rr Yy HVp£ ²¥¾v qhdpE¤Yy MdpE¤Yy AWy ZcWr YrAp£ WqhAp£ ²¥¾v 

\}qdAp£ HcYy cqh¥Yy h²¾ AWy \pVr AWy hep dBr cph I}dª Hy ZcWr Yr 

E\OpF fHWr eZpE¤Yy cqh¥Yy h²¾ & qB²¾ªp£ Yy gcrcp£ Yp `d er _v`r qeM 

d}msYy Hpc^q²¾H \YpcX q`dpE¤Yp h± & h}c Wp£ h}c, `c²¾ q\§N~ er qB²¾ªp£ Yy 

gcrc AOpBs ²¾hs Op£Yy & HtP h}c N}Ry Hp`y qB²¾ªp£ d}Xp£ Yr _¥²¾-W}m HcHy qB²¾ªp£ 

qeMdy `h§We\vc²¾ a}qJHp£ ²¥¾v `tm q`§Rr qeM q`dp qY¥Yy h²¾ AWy qBE¤ qB²¾ªp£ 

Yr A`rcr ²¥¾v HpqB` c§IYy h²¾ & 

\of²¾ : 

(C) qHg Yr hgWr ²¾hs h± ? 

(A) HrmrAp£ Yy ZcWr ²¥¾v \}dr Hc²¾ ²¾pd Hr dp_ ht¥Yp h± ? 

(B) N}Ry Hp ỳ Hr HcYy h²¾ ? 

(g) q²§¾Hy qg\phr Yy f^Y-H}f qeM Hr ²¾hs h± ? 

(h) qBg \±cy Yp Ut§Hep£ qgcdyI qdI} &  2+2+2+2+1=9 
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2. hyS¾ qdIr Hpqe-RtHmr ²¥¾v \mª Hy hyS¾p£ qY§Wy \of²¾p£ Yy E¨Wc qdI} :  

gtI-²¾sYy Oy gt§Wp Mphz, 

e§g ²¾p \Br A`rcp£ Yy & 

^¥Yr O²¾ Yy hdvBy ²¾pd~, 

RtHmy _dy lHrcp£ Yy & 

qeM Jtdp`r h}qB it²¾p`r, 

gt§HV dhv gcrcp£ Yy & 

gr²y¾ h§X, \¡V q²¾htmpBr, 

Imy ep£J Wgercp£ Yy & 

Hc Jtkcp²¾ gtW¥WcWp qeM, 

\qh²¾ J}Ymy drcp£ Yy & 

 \of²¾ : 

(C) Her qHhmp Ore²¾ qOEV dBr Hqh qchp h± ? 

(A) ^¥Yr O²¾ _pe Jtdp`r Yy Ore²¾ ²¾pd~ Hr M¥Jp h± ? 

(B) gt§I ²¾pd Ore²¾ Jtkpc²¾ dBr Hr Hc²¾ Yr d}m h± ? 32=6 

 ‘qeApHc²¾’¾ 

3. (i) ‘e§Icp-e§Icp’ g`pgr f^Y dBr hyS¾ qdIy qeHd\p£ qeM~ ghr qeHd\ 

MtV} :  

(C) e§Icp AWy e§Icp 

(A) e§Icp hr e§Icp 

(B) e§Icr e§IqcAp£ 

(g) e§IqcAp£ W~ e§Icp 
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(ii) ‘d}Hp£ Yp cpO’ g_ W~ E¨W` cpO h± & dHrcy f^Y-g v̀h Yp ghr 
g`pgr f^Y MtV} : 

(C) d}Hp£-epgWy-cpO 

(A) d}Hp£-dBr-cpO 

(B) d}Hr-cpO 

(g) d}H-cpO 2 

4. (i) ‘gc’ f^Y Yp ^ht-AcXH qHhmp ²¾hs h± ? 

(C) qIWp^, gc}ec 

(A) A¥H, ²¾pd 

(B) lqWh Hc²¾p, Kph 

(g) h}Vp, Wpf Yr gc 

(ii) ‘H§Mp’ f^Y Yp ^ht-AcXH f^Y MtV} :  

(C) Apckr 

(A) HR¡Wr 

(B) \vcp 

(g) R}dp  

(iii) ‘Wc’ f^Y Yp ^ht-AcXH f^Y MtV} :  

(C) J}dr 

(A) W¥Jr 

(B) Wc²¾p 

(g) RphVr 3 

5. hyS¾ qdIr epcWp ²¥¾v qefcp` qM¥²¾ª dp Hy qdI} : 3 

Ydycr hc qBH Yp ²¾phcp h}Vp MphrYp h± qIApdp£ Yr Ydycr A`dp£ Yr Ydycr 

Wy `²¾ Yr Ydycr gHvdp£ qeM §̂qMAp£ ²¥¾v Ydyc HcH dBr IyTp HcpBrAp£ OpV, 

Wp£ qH Eh qHWp^r-Hrmy ²¾p ^Vy cqhV & 
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6. hyS¾ qdIy `thpeqcAp£ Yy AcX Y§g Hy E²¾ªp£ ²¥¾v epHp£ qeM ecW} : 3 

(i) H¥²¾ _c²y¾ 

(ii) K}my eyM Hy g¡Vp 

(iii) k^p²¾ YyVr 

7. ‘AZ’ AWy ‘h`’ AJyWc dJp Hy Y}-Y} f^Y ^VpE & 2 

8. ‘ApBr’ AWy ‘gpc’ q\NyWc dJp Hy Y}-Y} f^Y ^VpE & 2 

 qdIV H¡fd 

9. hyS¾ qdIy qeqfAp£ qe§M qHgy qBH E¨\c 200 f^Yp£ Yp _pe\vcW dyI qdI} & 10 

(i) H¡`r ByHWp 

 ²¾®HWy : A¥Jcykp£ Yr HtqRd ²¾rWr, _pcWrAp£ qeM H¡`r ByHWp, ApkpY 

_pcW Yy ²y¾Wpep£ Yr _vq`Hp, ecW`p²¾ g`z Yyf Yr ByHWp dBr IWcp, 

H¡`r ByHWp g z̀ Yr `¥J, gpc¥f & 

(ii) `ycp `²¾\g¥Y AqZAp\H 

 ²¾®HWy : Ore²¾ EYyf, \mpEV Yr Hdp, qeqYApcXrAp£ ²¥¾v EWfphW Hc²¾ 

epdy, h}c JWrqeZrAp£ qeM qYdMg\r d±V epdy, g`z Yy \p^¥Y, 

qeqYAp-Yp²¾r, qeqYApcXrAp£ dBr Mp²¾V `t²¾pcy & 

10. qHgy \¥Op^r Yy Ai^pc Yy g¥\pYH ²¥¾v `hp£²¾Jcp£ qeM ApepOpBr Yr g`§qgAp 

Y§g Hy Eg Yy h§d dBr Ap\Vy e§d~ HtP gtPpA qYE & 8 

²¾®HWy : gmHp£ E¨Wy ApepOpBr Yr hpdW, qY§dr, dtqZApVp, A¥q òWgc, Od¥Zc 

qeM J¥_rc g`§qgAp, W¥J gmHp£, M¡Hp£, Ro±q³H dpBr²¾p£ Yr g §̀qgAp, YtHp²¾p 

A§Jy cymrAp£ ApqY Hpc²¾ _rm-_m§Hp, YtcKR²¾pep£, gtPpA & 

Op£ 
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Ap\Vy qBdpHy Yy d}Hp£ Yr qghW Yr Op£M Hc²¾ dBr H|\ dpEV epgWy qghW 

qe_pJ Yy TpqBc±HRc ²¥¾v qBH ^y²¾Wr-\§Wc qdI} & 

²¾®HWy : qBdpHy qeM l±dYrAp£ ^r`pcrAp£, qTg\|gcr Yr KpR, jcr^ Wy `O v̂c 

d}H, qBdpO ²¾p h}V Hpc²¾ ¡̀Wp£, H|\ ²¾pd c}Jp£ Yr Op£M, d}Hp£ Yr qghW dBr 

\cE\Hpc & 

11. Ap\ ²y¾ Ap\Vp `Hp²¾ qHcpBy E¨Wy YyVp h± & Eg dBr qBH ApYcfH 

qBfqWhpc qWApc Hc} & 7  

Op£ 

hyS¾p£ qYWr Wgerc ²¥¾v eyI Hy dJ_J 50 – 60 f^Yp£ qeM qBg Yp ecV²¾  

Hc} – 

 

(qgcl ²y¾Wchr²¾ qeqYApcXrAp£ dBr) 

^§g qeM glc Y¡cp²¾ WthpTp `}^pBrd M}cr h} qJAp h± & qBg ^pcy Ai^pc 

qeM N\V dBr i^c ^Vp Hy qdI} & 
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 \pS¾-\tgWHp£ ’Wy AZpcW \of²¾ – 

12. hyS¾ qdIy \of²¾p£ Yy E¨Wc qBH epH qeM qdI} : 41=4 

(C) Tp. Hdp` ²¥¾v _pcW Yy qHhmy e§Ty g²¾`p²¾ hpgd h}By ? 

(A) \¥Op^ Yy d}H-JrW \¥Op^ Yy qHhmy-qHhmy IyWcp£ qeM q`dYy h²¾ ? 

(B) e¥Y²¾p ²y¾ N§W E¨\c R|Hr qHE¤ c§Ir h}Br gr ? 

(g) `r²¾pHfr Yy `¥`r-\p\p Eg ²¥¾v qHg J§d W~ c}HYy g²¾ ? 

13. hyS¾ qdIy \of²¾p£ Yy E¨Wc 25 – 30 f^Yp£ qeM qdI} : 62=12 

(C) cO²¾r ²y¾ g§\ ²¥¾v qHXy _yOV Yr ^y²¾Wr HrWr gr ? 

(A) `r²¾pHfr ²¾pd hpYgp ep\c²¾ Yp Hr Hpc²¾ gr ? Eg ²y¾ qBg KR²¾p W~ 
Hr g^H qg§qIAp ? 

(B) Ag`p²¾ qeM KRp NpEV ²¾pd e¥Y²¾p Yy `²¾ qeM qHg Wcªp£ Yy qeMpc 
\±Yp ht¥Yy h²¾ ? 

(g) `±d^c²¾ Yr qHhmr Mrk ²y¾ q`dIp qg¥K ²¥¾v \o_pqeW HrWp ? 

(h) Tp. Hdp` E\c E²¾ªp£ Yy q\Wp YrAp£ qHhmrAp£ J§dp£ Yp \o_pe q\Ap ? 

(H) ^r^r _p²¾r Or Yy `t§Udy Ore²¾ E¨Wy c¡f²¾r \pE ? 

14. ‘ct§Ip£ ^pP~ ZcWr’ HqeWp Yp qefp-egWv dJ_J 100 – 125 f^Yp£ qeM  

qdI} &  5 

Op£ 

‘h|Hm AWy hF`± Yr `pc’ dyI qeM \yf g §̀qgAp E¨\c g¥Iy\ ²}¾R qdI} & 

15. ‘^y^y cp` _O²¾r’ qBHp£Jr Yy qegy-egWv E¨\c qeMpc Hc} & 4 

                Op £ 

fp` Ypg Yp Mqc§Wc Ap\Vy f^Yp£ qeM qdI} & 

 


